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SA: JIEZAA
M PH YW Y s
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SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
J1 & 2 AL 14,344,787 11,840,208 2,504,579
[ 10,000 0 10,000
2 14,334,787 11,840,208 2,494,579
2 ZH 9y 25 618,555 650,755 A32,200
[=4 10,000 0 10,000
2 608,555 650,755 A42,200
XS AEAY 22 190,060 200, 260 A 10,200
[=4 10,000 0 10,000
2 180,060 200, 260 A 20,200
ZERSHE LA w2 159,560 169,760 A 10,200
[ 10,000 0 10,000
2 149,560 169,760 A20,200
207 &R IH 2| 38,000 58,200 220,200
01 AR 38,000 58,200 A20,200
OsLT Z22AIE 44|
23 19,000,0002 * 23] 38,000 58,200 220,200
303 ZTA2 10,000 10,000
[~ 10,000 10,000
01 a2 10,000 0 10,000
02012 32 sZEIt A2
10,000,0008 * 1Al 10,000 0 10,000
[=4 10,000 0 10,000
EYHE ZREE &4 23,997 45,997 A22,000
AAl ZEAHIH RS 23,997 45,997 A22,000
301 Yt At 0 22,000 A22,000
12 JEtE A2 0 22,000 A22,000
O22XEXAD 242 38 0& 0 22,000 A 22,000
ol gl gl 7,240,817 4,945,214 2,295,603
ol gl bl 7,240,817 4,945,214 2,295,603
] 7,240,817 4,945,214 2,295,603
801 Ol HIHI 7,240,817 4,945,214 2,295,603
01 olldl Hl 7,240,817 4,945,214 2,295,603
Ot 22X 7,240,817,0002 * 14l 7,240,817 4,945,214 2,295,603
PSS (D22 AA) 3,900,096 3,658,920 241,176
RSOV 3,900,096 3,658,920 241,176
JIE oA BERXE 3,600,096 3,358,920 241,176
802 BH& 2| E} 3,600,096 3,358,920 241,176
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293,000& * 14 293 0 293
O[AME =X 1] 462 0 462
OJNEEZHLEEY Ildizs & HES XA
462,000& = 14l 462 0 462
O[s#Z=2d 1] 1,729 0 1,729
o201 HIIXNSA E5 & M=t £
SAY 1,729,000& = 14! 1,729 0 1,729
Ol std =gt 11,628 0 11,628
02011 A=l HAY 39,000& * 14l 39 0 39
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2,843,000 * 14! 2,843 0 2,843
020118 ELIEH XIS AS
7,068,000 * 14! 7,068 0 7,068
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1,678,000& = 14 1,678 0 1,678
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1,360,000 = 14 1,360 0 1,360
O[ME =X 1] 99 0 99
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9,000& = 14! 99 0 99
Ol std st 119,611 0 119,611
02011 A=l HAY 6,000& = 14! 6 0 6
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1,010,000& = 14! 1,010 0 1,010
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& 18,595,000 = 14l 18,595 0 18,595
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